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Four n»R acquire for him, everywhere

OVERVIEW
moon qualifies this rule of NX '7 71712, that it is not always effective.

Mmoon asks:
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And if you will say; in ny1 ¥9X 275 where the Xn>12 states regarding stealing a

purse on naw, if the thief -
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Was dragging the purse’ and leaving the domain of the owner, the thief is
exempt from paying for the purse because the violation of the prohibition of
working on naw and the violation of the prohibition of stealing occurred

simultaneously. This concludes the xn>2 -
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And the X3 asked, ‘if he brought the purse out to a 9''7719, there is a prohibition

of naw, but there is no prohibition of stealing’. This concludes the X3 there which is

relevant to our discussion. Moo concludes his question:
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And why does the X713 assume that if the item was taken out to the 7"717 there is
no 72°13 (1°I1P1) MO°R, but nevertheless he acquires the 72°13 since it is within his '?
nnR?!

N1v0IN answers:
— 93777 1329 9999 NY 1293027 1Y Y

! He is "wd from paying for the purse because of 1» 72772 % op (he is receiving a greater punishment). Violating
the naw is a capital offense. 7°1°n 72972 7°% 0p teaches us that if one transgresses a capital offense one is not liable to
pay for a monetary offense which occurred simultaneously with the capital offense. The liability of a thief to pay
begins when he acquires the stolen item. If he did not pick up the item he does not acquire it as long as it is in the
domain of the owner. We initially assumed that he acquires it as soon as it leaves the owners domain and is brought
into the 1", At that moment he is also transgressing the naw 7o°X of XX from a >"77 to a 7"77 for which there is
a 7n°n 2rn. Therefore he is Mvd from paying the owner for the purse.
2 If the thief picked up the purse he is 21 because the 21’1 of payment began by picking it up and this preceded the
naw Mo°R which occurred later when he carried it out to the 2"70.
3 The ®7n3 there assumed that there is no 72°wn PIp in a 7",
4 moon is now (seemingly) assuming (even before the answer of 895 27) that there is no n1X '7 173 in the domain of
a >"77 when he has no permission to be there. The nwaX '7 1Ip begins when he takes it out to the 2"77 which makes
the 712°13 simultaneous with the naw MoX.
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And one can say that regarding 772°13 the 3129 did not institute that mnx '7

should be 733? for the 213. The 73pn of NAXR '7 was instituted —
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only by a ;78%°3% so there should be no fights, and also by u3 to prevent P»w,’
but not by 72°13. Therefore the X723 there could not have mentioned nyaR '7 Ip.

nvoIN offers an alternate solution:
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And according to nww 39 who shortly states that the 1127 did not institute 71

NYAR Y3IX in a 9''79, the X712 there in M21Nd is properly understood. There is no
difficulty at all, since there is no NX '7 1°3p in a 71"7".

SUMMARY
MR "7 1s 1P only by aX°¥n and v but not by 72°1x (according to ¥55 27).

THINKING IT OVER

1. It seems that according to NwWw 27 there is NAR "7 1P by 72°13. Seemingly there is
no reason of YIRS >n°H K27 there (nor a X1V wwn); so why indeed is 7P MR 7
by m2°13?

2. mpon writes that they were not mnR "7 jpnn by 72213, Does nvoIn mean
specifically in this case, where if the 213 would be 7P with the mnX '7 he would be
Mo from paying (it would be a X7p for the 213); or does M»oIN mean that in all
cases (even if it is a X1 for the %233) there is no N '7 171p by 72°137°

5> The X7m3 clearly states this reason; Mmoo however maintains that there is MaR '7 117 by 03 (see XY 7w and MoON
here on the 13m® "1 7"7 '2 TY), and by vi the reason of ™xIx? N2 XY does not apply. Therefore N190I1n concludes that
by va there is a different ayy of X1y,
6 An Xy refers to a woman whose husband is not here, but we are not certain if he is alive (or if he divorced her).
This woman cannot marry and has no husband. The 051 instituted various N11pn to prevent such a situation. The
word 1Y means anchoring. This woman is anchored; she has no freedom to marry.
7 We want to make it as easy as possible for the woman to become divorced (when her husband is leaving, etc.).
There may be an occasion that the husband cannot hand her the v3, but can only throw it into her nvaX "7 (for he must
leave, or is about to die [and there will be a @12° 21°11]), therefore the 0°non decreed that NMnR '7 is 7P by va as well.
8 Once the 213 is 7P the 721 he is 217 even for TONK.
® See 1w NIX *"92 and 1"nR # 96.
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